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Twinkl PlanIt is our award-winning scheme of work with 
over 4000 resources.

https://www.twinkl.co.uk/resource/t-n-2546446-y1-addition-and-subtraction-planit-maths-steps-to-progression-overview


https://www.twinkl.co.uk/resources/planit-maths-primary-teaching-resources-year-1/planit-maths-primary-teaching-resources-year-1-number-addition-and-subtraction/planit-maths-primary-teaching-resources-year-1-number-addition-and-subtraction-related-subtraction-facts-within-20


Success Criteria

Aim

• Statement 1 Lorem ipsum dolor sit amet, consectetur adipiscing elit.

• Statement 2
• Sub statement

Success Criteria

Aim
• To use number bonds to solve problems.

• I can work out all number bonds within 10.

• I can use number bonds to solve addition problems.

• I can represent number bonds using part-whole models.

• I can write number bonds as calculations.



Remember It
Fill in the gaps.

Are there any that have more than one answer? Why?

10

55

7

16

6

42

8

9

27

0 and 8, 1 and 7, 2 and 6, 3 and 5, 4 and 4



£3                        3 = 1 + 2
33

21

Spending Money
You’ve got £3 to spend. What two things could you buy? 

Explain to your partner.

£1 £2 £1



You’ve got £5 to spend. What two things could you buy? 
Explain to your partner.

£5                        4 + 1 = 5
5

£1 £5£4

Spending Money

5

14



Kemal and Olivia want to spend all their birthday money.

Click how much money 
they have to spend.

£7 £8 £9 £10

Kemal and 
Olivia’s Birthday



Kemal and 
Olivia’s Birthday

£1

£3

£6

£2

£4£1 £4

£3

£6

£2

£7

Kemal and Olivia have £7 to spend. What two things could they buy?

£5£5



£7

£6 £2

£3 £1

£5

£8

£1£7

£2

£3

£6 £5

Kemal and Olivia have £8 to spend. What two things could they buy?

Kemal and 
Olivia’s Birthday



£9

£1

£4 £7

£5£2£8

£9

£4

£5£1

£7

Kemal and Olivia have £9 to spend. What two things could they buy?

£2£8

Kemal and 
Olivia’s Birthday

Why can't they buy the action figure?

Even though it would be spending £9, they wouldn’t be buying two things.



£10

£1

£5

£1

£8

£4£4

£8

Kemal and Olivia have £10 to spend. What two things could they buy?

£2£2

£9£9 £6£6

Kemal and 
Olivia’s Birthday

What if they wanted a train, how could they spend all their money?

They could buy 2 of them!

£5£5



The Toy Shop



Dive in by completing your own activity!

Diving into Mastery



Olivia’s Puzzle

5

I bought a monkey 
and one other thing.

£2 £5£3

She could have bought a 
monkey and the bricks

5 + 2 = 7

so she could have had £7.

She could have bought the 
monkey and the crocodile

5 + 3 = 8

so she could have had £8.

7

25

8

35

How much could I 
have spent in total?
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